4001059305 A2

13260

TV Ceiling Mount TV Ceiling Mount
ForTV :32"-60" ForTV:32"-70"

Max capacity:100 Ibs/45.5kg Max capacity:125 Ibs/56.8kg
Height adjustment rang from: Height adjustment rang from:
35.4"t059"(900-1500mm) 65"to118"(1650-3000mm)
VESA:200x100-600x400mm VESA:200x100-600x400mm

) We reserve the right to modify or alter instructions. No modification or
:B6-512-57970776 alteration without formal notice.




T3260/T7030

Table of Contents

Table of Contents and Warning:- -« ororeeri 2/8
Parts list oo 3/8

Assembly and Installation

1.Ceiling plate mounting hole identification — -----ccooeeieiiiiin 4/8
2.Main post to ceiling plate installation & extension -« 4/8
3.Main post assembly to ceiling installation «....cooooovvi 5/8
ATV INSEAIAION  rerere e e B/ 8
5.Cables & wires installating --------ooovevveiiii 7/8
6.Horizontal swivel & tilting adjustment -« 7/8
T3260 DIMENSIONS -+ rrrrrrrerrrreres ettt 8/8
T7030 DImMENSIONS «-vovvvererre e 8/8
WARNING!

Severe personal injury and property damage can result from improper installation
or assembly. Read the following warning carefully before beginning.

@®If you do not understand the instructions or have any concerns or questions,
please contact a qualified local installer.
@®Do notinstall or assemble if the product or hardware is damaged or missing,
if you require replacement parts, please contact your local distributor for assistance.
®Do not use this product for anything other than the original design.
@®This product contains moving parts, please use with caution.
@®The manufacturer disclaims any liability for the modifications, improper installation,
or installation over the specified weight range. The manufacturer will not be liable for
any damages arising out of the use of, or inability to use, the product.

> Allimages are for reference, to prevail in product.

Manual
~
1> pei
Tightening | Loosening| Phillips Metre Rule |Adjustment By Hand Hex Wrench [fTightening
Direction Direction Screwdriver —Loosenirg,

2/8




NORTH BAYOU

T3260&T7030

\

Parts list

1X

=]

or

13260

17030

1X 1X

=

8
R

G-

|

A- Qumm (M5x25)-4pcs

C- {jmmm (M8x25)-4pcs D- §)
E- ® (®13xd6.2x1.5)-4pcs F -

#

KI—( —Nwmm—mcs

M6-4pcs J-

O
(M6x8)-2pcs H- @

B- (mmm (M6x25)-4pcs

) (®15x®8.2x10)-4pcs

N\ M4-1pes

(M6x20)-4pcs
(M6x8)-2pcs
(M6x20)-4pcs

J

3/8




1.Ceiling plate mounting hole identification

N
"X

74.4mm

Ap
N\

A For concrete mounting
B Forwood ceiling stud mounting

2.Main post extension

Telescopic length adjustment.

Step3

leave about10

.

Step4 Stepb




3.Main post assembly to ceiling installation

Concrete Ceiling

/N\Unsupplied
_

Step5

[

Push and set your height
5/8




4.TV installation

6/8




5.Cables & wires installating

Cables




T3260 Dimensions

0ot

0oE

0o0g

- =

ook

WILING IWINDOS L~006

600

+2/-20°

T7030 Dimensions

WILQS WIW000E~059 L

+2/-20°

8/8




